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A 4R 58 68 78 88 98 108 118 128 18 28 38
EEYOEE | —BEED —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY —REEY
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mEBRILEY m3N/h - FE 0.001KtH 0.001K#H 0.001K# 0.001 ki 0.001K# -
o IEVCA (02 12%H & {E) g/m3N 0.15 i 0.001 5% 0.001K 3% 0.001 5% 0.001KR % 0.001 5% 0.001KR % -
154%F YEZE20mith 5 3
1B 1bkFE (02 12% & 1E) mg/m3N 700 i/ 11 16 18 14 14 14 -
ERFRIEY (02 12%HBE(E) ppm 250 / 90 98 110 100 94 100 -
mEBRIEY m3N/h - ,,/' 0.001K# 0.0015K 0.001K 0.001K#% 0001k 0.001K# -
e YEZE20mh & [FLLA (02 12%IRH1E) g/m3N 0.15 / 0.00147 0.001K# 0.001K 7 0.001K# 0.001K 0.001K 37 -
i = ™ 181b7kE (02 12%HE fE) mg/m3N 700 / 1 16 17 15 14 14 -
EHREEY (02 12%MBE(E) ppm 250 / 92 100 92 100 94 80 -
mEBRIEY m3N/h - 0.001k % 0.001k# 0.001k% 0.001k# 0.001k% - 0.001k%
. VB2 20m i XL A (02 12% B {E) g/m3N 0.15 7 0.001 353 0.001k i 0.001 5% 0.001K % 0.001 5% - 0.001 5%
i = ™ 181k 7kE (02 12%HE fE) mg/m3N 700 / 10 16 16 14 14 - 15
ZRMILY (02 12%BE(E) ppm 250 / 94 100 100 96 93 - 100
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